L3 Lead Examiner Report 2001
January 2020

L3 Qualification in Business/Enterprise
and Entrepreneurship

31463H - Unit 3: Personal and Business Finance




L3 Lead Examiner Report 2001

Edexcel and BTEC Qualifications

Edexcel and BTEC qualifications come from Pearson, the world’s leading learning
company. We provide a wide range of qualifications including academic, vocational,
occupational and specific programmes for employers. For further information visit our
qualifications website at http://qualifications.pearson.com/en/home.html for our
BTEC qualifications.

Alternatively, you can get in touch with us using the details on our contact us page at
http://qualifications.pearson.com/en/contact-us.html

If you have any subject specific questions about this specification that require the help
of a subject specialist, you can speak directly to the subject team at Pearson. Their
contact details can be found on this link:
http://qualifications.pearson.com/en/support/support-for-you/teachers.html

You can also use our online Ask the Expert service at https://www.edexcelonline.com

You will need an Edexcel Online username and password to access this service.

Pearson: helping people progress, everywhere

Our aim is to help everyone progress in their lives through education. We believe in
every kind of learning, for all kinds of people, wherever they are in the world. We've
been involved in education for over 150 years, and by working across 70 countries, in
100 languages, we have built an international reputation for our commitment to high
standards and raising achievement through innovation in education. Find out more

about how we can help you and your learners at: www.pearson.com/uk

June 2019

Publications Code 31463H_2001_ER

All the material in this publication is copyright
© Pearson Education Ltd 2019

@ Pearson



L3 Lead Examiner Report 2001

Grade Boundaries
What is a grade boundary?

A grade boundary is where we set the level of achievement required to obtain a certain
grade for the externally assessed unit. We set grade boundaries for each grade, at
Distinction, Merit and Pass.

Setting grade boundaries

When we set grade boundaries, we look at the performance of every learner who took
the external assessment. When we can see the full picture of performance, our experts
are then able to decide where best to place the grade boundaries - this means that
they decide what the lowest possible mark is for a particular grade.

When our experts set the grade boundaries, they make sure that learners receive
grades which reflect their ability. Awarding grade boundaries is conducted to ensure
learners achieve the grade they deserve to achieve, irrespective of variation in the
external assessment.

Variations in external assessments

Each external assessment we set asks different questions and may assess different
parts of the unit content outlined in the specification. It would be unfair to learners if
we set the same grade boundaries for each assessment, because then it would not take
accessibility into account.

Grade boundaries for this, and all other papers, are on the website via this link:

http://qualifications.pearson.com/en/support/support-topics/results-certification/grade-
boundaries.html

31463H - Unit 3; Personal and Business Finance

Level 3
N P M D

Grade Unclassified

Boundary Mark 0 12 25 42 59
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Introduction

This was the sixth examination of the Personal and Business Finance unit 31463H.
The structure of the paper remains consistent with two section with personal
finance worth 36 marks and Business finance worth 64 marks. Question 9 -14 have
traditionally focussed on a small business scenario. It should be noted that future
papers will be worth 80 marks. Sample papers in this format can be found on the
Pearson website.

Introduction to the Overall Performance of the Unit

Many learners are now structuring their answers better than in the first few series
and showing workings and formulas more clearly. Use of data and context in the
extended levels of response has generally improved series on series on a number
of questions. Centres seem to have better prepared their learners for the
examination. This has led to these candidates being rewarded with the higher
levels of response marks. Learners are still scoring proportionally more marks on
personal finance than business finance which suggest they may still need to
ensure they spread their time more evenly between the sections.
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Individual Questions

Question 1

This was answered well on the whole giving answers as expected straight from
the specification to provide their answer e.g. unit of account, means of exchange,
store of value or legal tender. Some candidates did provide two answers which
were the same and therefore limited their mark to 1 e.g. pay for services, to pay
for goods. One common incorrect response used was ‘needed to start up your
business'.

The response below scored the full two marks: Two marks were awarded for two
functions of money as per the mark scheme. The second mark is awarded for "deposit"
and not "earn interest".

. N
SECTION A - Personal Finance
Answer ALL questions. Write your answers in the spaces provided.
You should spend up to 45 minutes on this section.
1 Give two functions of money.
1 [CecleSe qoadS

2. AefPcSi Y Qnd  @acq  nleesF

(Total for Question 1 = 2 marks)

The response below scored one mark as there was no rewardable content: One
mark was awarded for "pay for items". No mark awarded for "to invest into something"
as it is too vague to be a clear second point.
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1 Give two functions of money.

1 ‘{n {I)csj A wrems

2 ’f‘»ﬁ AWAVLSY AWAAD hm.ﬂt}

(Total for Question 1 = 2 marks)

Question 2

Many learners stated that the FOS is an arbitration service which it is not. Some
said that the FOS will help to settle the complaint in favour of an individual. There
was a misconception that customers would be helped against the businesses. The
understanding that the service was impartial / non-biased however was frequently
demonstrated or that that the service was free which were both rewarded.

The response below scored the full two marks.

2 State two advantages to the consumer of using the Financial Ombudsman Service
(FOS) for support in a complaint against a financial organisation.

_(Total for Question 2 = 2 marks)

The response below scored one mark as the learner makes the same point twice to
say the FOS is unbiased - "very fair and just" and "it cannot be influenced".
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2 State two advantages to the consumer of using the Financial Ombudsman Service
(FOS) for support in a complaint against a financial organisation.

Leboas vey . Sauc. and u\fs&ckoqsu\jﬂenshé
eath . do. Lind. . the (% inl- M TS - ———

2. et e M O O

~ (Total for Question 2 = 2 marks)
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Question 3

As in previous series learners were frequently able to gain a mark but only some
learners managed to develop their answers. To gain maximum marks on these
types of questions learners need to try and develop their points. Very short
answers are unlikely to achieve full marks. Candidates made points regarding the
‘less secure’ aspect but failed to understand the major weakness that it offers less
protection than credit cards because pre-paid cards are not covered by the
Consumer Credit Act. In addition other methods of payment, such as cash could
also be lost. There was an understanding that it was inconvenient/time consuming
because money has to be added to the card however many candidates assumed
that if you didn't spend the amount on the card it was ‘lost’ where in actual fact you
would use it at another time until the expiry date/you arrange for it to be
transferred.

Three marks were awarded for the response below. Two marks were awarded for
the first disadvantage for a correct identification and a development per the mark
scheme. One mark was awarded for the second disadvantage for the money isn't
protected from loss. If the learner had mentioned a comparison to other methods of
payment, an additional mark could probably have been awarded.

3 Explain two disadvantages to the consumer of using pre-paid cards.

100 disadvring. 3t Ctous oe v to Sl omymet. ooy winh s on e

Cod Which lends Ho  peson Soondiny olinty -

2 Arotler_disduin. s thtt ¢ [t 2l o Mowy on tla pe- pud

Ok Com oy hac Clovosd bkt ttnsen B, Colimad . coonm isnk poicedid pon Ling
(Total for Question 3 = 4 marks)
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One mark was awarded for the response below. No marks are awarded for the first
disadvantage because it is too vague and has not been compared with other methods
of payments, because all methods of payments may not be secure. One mark is
awarded for the second disadvantage, "may end up not using the full amount you have
loaded onto the card" - this is a development of the "expiry date" point of the mark
scheme. Developments may be used to award a mark even if no disadvantage is
explicitly identified.

3 Explain two disadvantages to the consumer of using pre-paid cards.

1.”\'\&.;3 e ok Socoune Someone
S Xaermn

2 “ja’.‘%—k 0 end uk_x, Nk LL";E-H\ ‘:.’Ni Oraornk
Wou \rona A00ds 0ne Cond - The Trherest YOkR S Ngh. ..
(Total for Question 3 = 4 marks)



L3 Lead Examiner Report 2001

Question 4

This question produced a good range of responses. The key thing to consider is
getting a strong balanced argument in place with the point being applied to the
scenario and then developed to say what the implications of an issue might be.
Level 2 responses seemed frequent where the candidate knew and could explain
the financial benefits and gains that using a comparison websites could offer. The
stronger learners developed this to understand that these sites were less time
consuming than shopping on sites individually and that some deals/site would not
feature so you may miss the best deal. The best candidates did understand that
when purchasing a tangible object as asked in the question, the quality aspect may
be missed and that this type of site would be great for purchasing services although
you would go to the shop still to investigate the quality. Responses did show an
understanding that these websites are subject to bias/favouritism from companies
who can purchase the right to feature at the top of the lists.

The following response scored the full six marks. The learner has presented a logical,
well developed and balanced discussion using accurate and thorough knowledge
where any gaps and omissions are minor. Appropriate technical language (e.g. filters)
is used. Context is provided as the learner makes it clear that price comparison
websites can be used to compare items and insurance, and then they continue to refer
to electrical items throughout their response. The best fit for this answer is the top of
Level 3.

10
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~ "N
Consumers often use price comparison websites before purchasing electrical items.
4 Discuss the advantages and disadvantages to the consumer of using price
comparison websites,
(6)
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(Total for Question 4 = 6 marks)

12



L3 Lead Examiner Report 2001

Four marks were awarded for the following response. An attempt is made to offer
some development of both advantages e.g. "saves time (point) by not having to travel
store to store (development)" and prices are up to date and accurate (point) leading to
a development later in the response "finding the best price". The disadvantage of
being able to verify the quality of product needing to be seen for electrical items as it is
a tangible product shows some development and good context. There are more than
minor gaps in the knowledge. The best fit for this answer was deemed to be at the top

of level 2.
- \

Consumers often use price comparison websites before purchasing electrical items.

4 Discuss the advantages and disadvantages to the consumer of using price
comparison websites.
(6)
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Question 5

The next question discussed shares. Learners were frequently able to identify
shares as ‘risky’ or ‘high risk’ and this was a popular answer. Unfortunately, many
responses failed to assess the suitability of Rob investing his inheritance by
purchasing shares by looking at the benefits and drawbacks. Instead many
learners chose to look in too much detail at the alternatives to investing in shares
and simply described alternatives. The factor most candidates seemed to think was
the most important in the scenario given was the time (in years) until his children
need to go to university. This was deemed to be so far in the future they can go for
a less risk alternative. The main positive was that the shares could yield a high
return quickly and most candidates knew that if the company was to go into
liguidation Rob could lose all of his investment.

In the response below nine marks were awarded. The learner considers a wide
range of information with accurate and thorough knowledge (e.g. dividends). The
response is well developed (e.g. the use of comparison with savings account). Linkages
and interrelationships are present between factors (e.g. tripling of the investment, the
10+ years the investment is needed, business stability). A justified conclusion is present.
The only significant factor missing is the discussion of the increase in share price, which
is important in this context. Had the learner discussed this, it would have received 10
marks or more. Best fit is middle of Level 3.

15
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5 Assess the suitability of Rob investing his inheritance by purchasing shares. TTQMlity 7

Your response should:
+ provide a careful consideration of the factors that apply to Rob’s situation
= identify which factors are the most important

« provide a supported conclusion.
(10)
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(Total for Question 5 = 10 marks)

18



L3 Lead Examiner Report 2001

In the following response six marks were awarded. This answer showed accurate
knowledge and demonstration of understanding with a few omissions. Some
development of points (e.g. becoming bankrupt and losing money, part ownership of
the business and hope to gain dividends, high risk of shares.) Some linkages and
interrelationships between factors demonstrated using logical reasoning and
appropriate specialist language. A judgement is presented but does not support the
decision made. The best fit for this answer was deemed to be the middle of Level 2.

19
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5 Assess the suitability of Rob investing his inheritance by purchasing shares.

Your response should:
«  provide a careful consideration of the factors that apply to Rob's situation
+  identify which factors are the most important

« provide a supported conclusion,
(10)
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Question 6

It would appear that learners enjoy the format of this type of question which has
been seen in a few of the previous series. Learners are able to discuss the benefits
and drawbacks of different financial products although some do not draw direct
comparisons. Too many are still just writing the full company package out in full
sentences making limited points and superficial development e.g. the excess is the
highest etc. A limited number make a thorough application leading to balanced
evaluation drawing on linkages and interrelationships between factors e.g. the
excess is highest for the company that offers the cheapest annual cost and having
a high excess will not matter if no claim is made but will be a significant negative
point if multiple claims are made in that year. The excess was generally not very
well understood. Many candidates thought the vet fees cover was the actual cost
of the vet fee for treatment so assumed Shireville was the best for only costing
£1000. The amount of candidates that believed they would ‘make money’ if the cat
was lost/stolen with Westshire as they would get £800 and the cat only cost £450.

The best learners saved themselves time by discounting options quickly at the start
with a rationale as to why they have done so. They would then focus on two
products before coming up with a justified conclusion. This saved those learners
time without detracting from their answer. They were able to apply it to the
scenario and use the numbers to back up their argument.

In the following example 10 marks were awarded. The response is well written and
uses logical reasoning throughout. The learner demonstrates accurate and thorough
knowledge though there are some gaps in discussion of features of the insurance. The
response lacks a thorough grasp of the competing arguments (e.g. the learner states
why Westshire is suitable, because of the cat cover, but fails to make comparisons to
the other providers and why they might be less suitable.) The conclusion therefore isn't
fully supported. The best fit is the bottom of Level 4.

22
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6 Evaluate which pet insurance provider would be the most suitable for James.
(12)
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In the following example eight marks were awarded. The learner demonstrates
accurate knowledge and understanding of the information. There is evidence of
application and linkages e.g. £4 000 of vet fees cover per condition and Shirevale only
has £1 000. Some points are developed e.g. James has a full time job he may be able
to afford more expensive insurance which offers better cover. Points made are generic
at times e.g. "he might want to consider the highest loss / cover" but this is not well
developed or used to justify the conclusion. The linkages between the features of the
insurance providers are not fully demonstrate to show a thorough grasp of the
competing arguments. The conclusion presented is not fully justified. The best fit for
this answers is in the middle of level 3.
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6 Evaluate which pet insurance provider would be the most suitable for James.
(12)
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Question 7

This question produced a high number of responses which scored low or zero
marks. It was apparent that the majority of learners did not know the features of a
debenture. A common response was ‘it's a loan’ which was not rewarded.

The response below scored two marks for two correct responses. One mark was
awarded for long term finance and one mark was awarded for secured against assets.

7 Identify two features of a debenture.

A s o mnedibm s Ao lang. kerm. Soute. of finance.

2 l‘c%“\a%mmﬁa&o}ﬂg& Oy ORI

In the following response one mark was awarded. One mark awarded for long-
term debt financing. No mark was awarded for the second feature.

7 Identify two features of a debenture,

v Dobsnbwus mamfectmmhlangﬁnmcﬂzbkéwmmpmi

2 lE?Iﬂ Cucles  boayd oy diaeors
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Question 8

Again this question scored less marks on average. There were a high proportion of
learners not fully understanding the impact that discount allowed had on the
accounts of a business.

In the response below one marks was awarded. No mark for "pay on time" as they
are actually paying early. "making their inflows consistent" is not rewarded as it is not
clear what the impact is (should mention speed rather than the amount.) One mark for
"lowers their profit".

Many businesses offer a prom nt discount to credit customers who pay within a

_short period of time.

8 State two effects that a ‘discount allowed’ being offered to customers will have on the
accounts of a business.

1. CUSOME... IR LR Ly....... .. 20N G0, 0 Tnect(one Mauing...
e nmjlaws B T KT L x T
2 AL coitd.. lowes me«rtprdpfﬁg _______________ &y e Qoymat ).

e dlBACOBOIGEL 7o e
~ (Total for Question 8 = 2 marks)

In the response below one mark was awwarded. No marks were awarded for "not
meeting breakeven". One mark was awarded for "making less profit".

8 State two effects that a ‘discount allowed’ being offered to customers will have on the
accounts of a business.

' MW—SH—% ................ >

__ (Total for Question 8 = 2 marks)
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Question 9a

A good proportion of learners scored highly on this question. Many learners picked
up three or four marks with the most common error being to miscalculate the
opening inventory.

Three marks were awarded in the response below. Opening inventory was
incorrect.

Silva
Statement of Comprehensive Income for the year ended 31 December 2019
£ £
Sales 31600
Opening inventory ()] 3\1‘0&0 e (1)
Purchases 17 500
Closing inventory 3496
Cost of goods sold 14 760
' Gross profit ) TETES ()
| 240
Expenses
Wages 8234
Heating and lighting (iify 31 O % —
Total expenses 11342
Profit for the year w 20L9% o
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In the example below two marks were awarded. Opening inventory and profit
for the year are both incorrect.

Silva
Statement of Comprehensive Income for the year ended 31 December 2019
£ £
Sales 416, 94¢ 31 600
Opening inventory (i) .. m —))
Purchases 17 500
Closing inventory 3496
Cost of goods sold 14 760
Gross profit a_e\6 ko (M)
Expenses
Wages 8234
Heating and lighting i) . E3%. (1)
Total expenses 11 342
Profit for the year (iv) . E2O LS8 . (1)
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Question 9b

Alarge number of learners scored either full marks or four marks. It remains clear that
a number of learners did not fully understand the layout and structure of a statement
of financial position which therefore cost them some marks.

Four marks were awarded for the next response. The final answer (v) is not

correct.
Silva
Extract from the Statement of Financial Position at 31 December 2019
Cost Depreciation Met book value
(£) (£) (£)
Non-current assets
Vehicle (i . 19,00 (1) 4 500 5500
Fixtures and fittings 5 000 2 500 2500
Equipment 9 500 (i) g;‘;{; (1) & 000
i) 1A, c00. (1)

Current assets
Inventory 3 496
Trade receivables (iv) Q0 (1)
Cash at bank 1 540
Cash in hand 160

6 296
Current liabilities
Trade payables 2624
Met current ) I MY Y’ (1
assets/liabilities
Non-current liabilities
Loan 2100
MNet assets 15572
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Three marks were awarded for the next response. Parts (i) and (ii) are not

correct.

Silva

L3 Lead Examiner Report 2001

Extract from the Statement of Financial Position at 31 December 2019

Non-current assets
Vehicle
Fixtures and fittings

Equipment

Current assets
Inventory

Trade receivables
Cash at bank

Cash in hand

Current liabllities
Trade payables

MNet current
assets/liabilities

Non-current liabilities

Loan

MNet assets

Cost

(£}
o 3500
5 000

9500

(1)

(ii)

{iv)

Depreciation
(£)

4500
2 500
1000

3496
1100 .

1540

160

2624

Net book value

(£)

5 500

2 500

A1) 6 000

ai) [4 000

A1)

6 296

(v) 36?2

2100

15572

(1}

(1)
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Question 9c

This question was less well answered generally with a number of learners not knowing
the formula and also not being able to calculate liquid assets. Rounding down is a major
issue here and regularly cost learners marks which is exacerbated when workings are
not shown.

Three marks were awarded for the response below.
(c) Calculate the liquid capital ratio,
(3)

s R
Show your workings. currenx Ossers

- Nvensrona b
S currens Uosonld hay

-

©296 - 34q( =2800 226124 =1-067 3/

1. 067 %)

Two marks were awarded for the response below. The correct formula and correct
liquid assets figure are shown.

(c) Calculate the liquid capital ratio.

(3)
f
Show your workings.
Gt sk, « MueN on CL. -
e el bl ke TR .
P T %7 - %67 0 %G

0 166
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Question 9d

This question was less well answered generally with a number of learners not knowing
the formula for trade payable days. Incorrect rounding was also a frequent error as
noted on 9c above. The decimal part of the answers should always be rounded up to
provide the nearest whole day as the answer.

In the response below two marks were awarded for the correct answer.

(d) Calculate the trade payables days ratio.
(2)

a —\
Show your workings.

(Tﬂ“‘— pydplm [ Cedit  Purchanes) x365

(2624 ~ a0 )x 30

= V09
o%-9

E%,

One mark was awarded for the correct formula in the response below.

(d) Calculate the trade payables days ratio.
(2)

f ™
Show your workings.

crale @Peresr 2071
e W pyrchere
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Question 10a

This question was well answered with a good proportion of learners gaining full
marks. A number of learners did not show the formula in words or numbers. Many

learners were unable to calculate the correct contribution per unit as they missed
out one variable cost.

In the response below four marks were awarded for the correct answer.

10 (a) Calculate the sales needed to break-even.

(4)
f N
Show your workings.

S\co Sleo - 9So
Y B

RSo - 1L = 7133

o -1 S

Three marks were awarded in the response below. The learner had missed out one
of the variable costs but then completed the rest of the calculation accurately.

10 (a) Calculate the sales needed to break-even.

(4)
( Show your workings. )
\4 - 550 2 @S
O
=100 - 600
€ -S
\. .
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Question 10b

This question was reasonably well answered with a significant proportion gaining
full marks. A number of learners did not show the formula in words and a
significant number of learners did not know how many weeks there are in a year
with 48 being commonly used.

In the response below three marks were awarded for the correct response on
the right hand side of the box

(b) Calculate the margin of safety for the year. ]

(3)
4 . R
Show your workings. Z ay47 T \Sbo YN\ \%b60 ~ 850
| loxi = 440
LMD (g Tioxir =4
Seel
2eaol®
eaato
\_ J

In the response below two marks were awarded for the correct formula. One mark
was for the correct formula (benefit of the doubt with break-even point rather than
break-even quantity). One mark was for the correct sales figure.

(b) Calculate the margin of safety for the year.
(3)

r ~
Show your workings.

H""‘_V’“ of unfekxs mthwal rults- Lrak ewen wrink

SEeg=pgge— S0>50= 1500

ol rtytmg 1500 450
S0%s27 1560

_____ €50
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Question 10c

The majority of learners answered this question well and scored the full three
marks. Showing workings more clearly could have helped other learners gain
further marks.

In the response below three marks were awarded for the correct response.

(c) Calculate the amount of profit the order will be worth.

(3)
f N
Show your workings. 000
o00 Seoo
). boe ~ W00
A0 EE:
G
€Egeo

3 J

In the next response one mark was awarded for the correct calculation of total costs.

(c) Calculate the amount of profit the order will be worth.
(3)

[ Show your workings.

200 * GOC
- L4100

~000 - 3600

L
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Question 11

Many candidates approached this question by comparing liquidity ratios vs profitability
ratios and discussing the advantages and disadvantages of using these ratios as
opposed to ratios more broadly as a tool to measure performance. The candidates
seemed to believe that the ratios solved problems and ‘tell you what to do’ and this lack
of technical understanding also meant many candidates failed to understand that they
reflect the past. The candidates often make broad statements that the comparable
information is always available from other business failing to understand this might not
be the case. Advantages are usually understood more so than the negatives with
negatives focusing inaccurately on that the ‘ratio could be wrong’ and ‘it takes time to
calculate’ which was not rewarded.

Five marks were awarded for the next response. This response lacked balance which
prevent full marks being awarded (another disadvantage would have helped) and the
one point of 'quantitative’ data was developed twice. The points made are well
developed. The answer is accurate and in context. There is some balance and the
response is logical. The best fit for this answers was the bottom of Level 3.
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11 Discuss the advantages and disadvantages of using ratios as a tool to measure the
performance of a business such as Silva.

(6)
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dYhey fauen ypat ayredo e perfimane o
VUS| W) tnUuud e - AN UUPEOY FEVUCR
ReANG) ymwmd oy Iwe quadiing 0F e pvodu ik or
o dnuuoment  gf L. Ehsp . Uning  giao LNOUGNS .
WOAMd  Mureper? (s NG TUAL FWW. WAW i umpiove
W YWD AR YR WAL -
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Two marks were awarded for the next response. This response demonstrated
isolated knowledge of ratio's e.g. will allow her to assess the business worth using
current ratios to find out if it is good or bad for the business (not developed).
Additionally it understands business liquidity in the responses where the learner states
"she can see if she can cover her debts" and this may encourage her to be less/more
cautious in the future. This answer shows some limited knowledge of ratios as a tool.
The best fit for this response is therefore at the top of level one.

11 Discuss the advantages and disadvantages of using ratios as a tool to measure the

performance of a business such as Silva. "
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Question 12

The quality of answers for this question was mixed. Many learners could calculate the
contribution to be £5 which was a point or helped them to develop a point, but few could
fully balance their analysis containing linkages and interrelationships between factors.
Some knew that the contribution enables you to calculate break-even point but very few
calculated this at 4 800 for her most popular flowers. Many fail to understand break-
even is a prediction and used as a planning tool. Too many assume if you don't do it the
business will go bust without supporting this argument. None really contextualised their
answer at all just saying ‘negotiate with suppliers’ as if any scenario was given so only
the very best could understand that lowering the contribution with different suppliers
could impact quality and many items a florist sells you can’t do this as you go to a florist
because you want quality rather than just cheap flowers for which you might choose to
go to a supermarket. Very few could outline a high selling price vs low cost argument
e.g. you can only higher your cost if the quality is worthwhile. Knowing how it links into
coverage of fixed costs was not fully understood.

Seven marks were awarded for the next response. Avery well written answer which
covers some good content with development. Had the learner calculated break even
correctly they would have shown accurate and thorough knowledge and would have
scored eight marks.
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12 Analyse why it is important for a small business such as Siva to know the
contribution per unit of the products it sells,

(8)
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Four marks were awarded for the next response. The learner develops a couple of
points to show linkages and interrelationships which helps place this answer at the
bottom of level 2.

12 Analyse why it is important for a small business such as Silva to know the

contribution per unit of the products it sells, o)
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Question 13

The focus of this question was the impact that invoice discounting had on the
profitability and liquidity of the business. Many candidates understood that liquidity
would improve as you get some of the money more quickly, but this impacts profitability
over time. There was no issue really in understanding this and many added the total
amount that would go to the company. The rationalised judgements on significance was
often ‘do it until you can afford not to’ or lower your days to 30. When it was done with
development the point raised were on the whole what was on the mark scheme but too
many candidates just used the table and wrote out the details into sentences not really
answering the question e.g they get 1008 but won't receive 252 etc. There was no real
application. The response on the mark scheme ‘may not be accepted as only has limited
credit collection experience so may be seen as risky to the business offering invoice
discounting’ was not seen - it was assumed this would automatically be granted. It was
clear that learners did not fully understand what invoice discounting was. For learners
who discussed debt factoring (which is similar in many respects) they were rewarded
where accurate knowledge was shown.

Nine marks were awarded for the next response. A well worded answer which
addresses a lot of knowledge with valid development. The answer would have received
full marks had there been a little more application of the data been present. The best
fit for this answer was deemed to be the middle of level 3.
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13 Assess the impact invoice discounting will have on the business’s profitability
and liquidity.

Your response should:

+ provide a careful consideration of the factors that apply to Silva’s situation
« identify which factors are the most important

+ provide a supported conclusion.

(10)
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Six marks were awarded for the next response. This answer covers some knowledge
with good development although there are gaps. £824 is a correct calculation of the
amount payable to the finance company over the three month period and a suitable
development/point used to support making an assessment of impact. Judgement on
significance supports the answer. Language is a little weak by conveying material in a

non-specialist manner. The best fit for this answer was deemed to be the middle of
level 2.

13 Assess the impact invoice discounting will have on the business’s profitability
and liquidity.

Your response should:
+ provide a careful consideration of the factors that apply to Silva’s situation
identify which factors are the most important
provide a supported conclusion.
(10)
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Question 14

The best candidates were able to use the figures to make a 20 year comparison by
multiplying the lease up to match the mortgage and draw a comparison. The
understanding that variable rate mean it could be good or bad was understood although
heavily used as an argument not to mortgage as they felt it was too much of a risk
interest rates would increase. Many candidates believed a mortgage made you tied in
and unable to move for 20 years which was a shame as this often did limit the learner
being able to make full justification. Candidates on the whole assumed that whist the
lease was fixed for 5 years they very rarely considered that the owner could still choose
to sell the property. Many judgements were made that she should start with the lease
to test out the business before going for a mortgage in the future.

Nine marks were awarded for the next response. There are a few minor knowledge
omissions which could have helped this response with an improvement in competing
arguments which could have moved this into level 4. However the points made are well
developed and linked together well demonstrating logical reasoning throughout.
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14 Evaluate whether Silva should lease the property (Option 1) or buy the property
(Option 2).
(12)
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Six marks were awarded for the final response. Although there are some calculation
errors (multiplying by the wrong number of years) the knowledge demonstrated
outside of this has some good development. This material is also used to help them
make a judgement. Good evidence of application demonstrating linkages and
interrelationships. Best fit for this answer is at the top of level 2.

14 Evaluate whether Silva should lease the property (Option 1) or buy the property
(Option 2).
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Ssummary

Overall there are some clear examples of good practice taking place in many
centres. Some strong examples of personal finance understanding were pleasing
asis a noted improvementin the structure of the longer written answers. with more
evaluation taking place which built on the good improvement noted in the recent
series. It may be that some learners again spent too long on section A and, whilst
they may have scored well this was sometimes to the detriment of section B with
some learners running out of time as a result which seemed apparent on the later
questions. Learners should try to allocate time accordingly and ensure that the
larger questions are attempted. The reduction in paper size for the summer 2000
series should help learners to perform more strongly on the second part of the

paper.

The following suggestions are made on how learners can further improve their
answers.

e Ensure the question is read carefully to answer the question asked.

e Ensure the amount of time is spread across the paper so all questions are
completed.

e Always show the formula and workings in the calculation questions.
Workings should be labelled so the examiner can see the thought process
behind the answer.

e Where there is more than one mark available, knowledge points should be
developed further rather than giving isolated points of knowledge. This is
particularly important on question 3 where two marks are regularly lost by
learners.

e Aim to produce a balanced argument on all questions of 6 marks and above
in order to achieve the higher levels. The level descriptors expect balance in
the higher bands so try to plan out your answer.

e Where there are two or more elements to consider always try to give the
positive and negatives point for each rather than just repeating the content
or saying “x is better than y”.

e Usethe scenario provided to apply knowledge and understanding in context.
If numbers are provided, this is a good opportunity to use these in answers
to support the arguments being presented. If relevant, do some calculations
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to help you to give good context. Good analysis of data helps a good
assessment and evaluation to be made.

e Provide a conclusion to the extended written answer questions of 12 marks.
The answer should be justified based on the arguments presented in the

body of the response. Again figures can be used to give a more powerful
rationale for the decision made.
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